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I Analysis of next clause in 'R mWwn — preparing the nmop
a  Np71x preparing the nmvp in order to learn how to do it or to donate it to 112°¥ — exempt; if to smell it —27n
i But: someone who smells the proper nmvp is exempt, but is in violation of n%yn
it Challenge: 9"27's ruling (in X15p 92’s name) that sound, sight and smell do not attach to n%»’yn
1 Answer: smell is excluded from n%yn after the smoke rises; since its mxn is completed
(a) Principle: once the object has completed its mxn, n%yn no longer attaches
(b) Challenge: 710 NN still has n%yn (per v. 1)
(¢) Answer: 7"man and n1nd *ma (v. 2) are TR TR0 PN MW > all others have nYyn “lifted” once mwyy ymxn
(i) Challenge: that is valid for 1327, who understand v. 2 as prohibiting all further use of 1"n> »ma
(if) But: according to ®o1T "1, who limits scope of v. 2 to using those n>ma for another 3”11’ — no PaN3 NV
(iii) Answer: (W0 NMIN and nNary N9 (v. 3) are PN NV
1. And: even to nT "1, who allows for 123 7w to teach, each of vv. 1 and 3 have Do m (1w, naryn)
II  xna describing preparation of nmop ("NMvpn DIVY”)
a  Ingredients; lists 11 base ingredients and their weights
b Catalysts: lye, wine, salt and "jvy nYyn” —n1 "1 adds some grass from the 177
i Rules: no adding war; if any of the base 11 ingredients omitted, nn'n 2»n, prepared in w1pn (Fno oo Mm)per v. 4
1 Challenge: v:1 ©9pw — if he was w1pn his property and it had items fit for 112 129p — used to pay pamr
(a) Comment: “fit for narn” must refer to NP, as animals, flour, wine and oil were already discussed
(b) Answerl (xwwix 77): the nmop 91mn which is traded with pamr and bought back (see below)
(i) Rejection (901 "7): doesn’t state (in our mwn) that it is bought back from nwTn NP
(c) Answer2 (9o 77): refers to one of the ingredients of the nmvp — but, as yet unprocessed (out of “wmp”)
OI  xna: nmvp was made (annually) of 368 min; 1 per day in solar calendar and 3 extra for 1an ®5n of 3”13 on 2"nv
a  Surplus (in non-leap year): given to workers in pay, then bought back from them from new nnyn-fund
b Related »1772: once every 60-70 years, there was enough surplus to prepare half the usual amount
i Therefore (“710i7” pwa 27aw7): if an individual prepares half the usual recipe — 27n; but we have no info on less
ii ~ opom every day, they would prepare the proper mix for that day (1n who prepares small amount 27n)
1 Support: to X217 (see p. 4) — preparing a small Myw of MNYNN 1Y — exempt; a small MYY of NP — 27N per v. 5
¢ Related xn»72 it would be put back in grinder twice a year
i In summer: spread out, in order not to get moldy
ii  In winter: pushed together, to maintain scent
iii  When grinding: the worker would speak and say p7n 2v'n ,20°0 P10 (per 13Ny 1270V RaR ')
1 Per: 1y 1 —just as speaking (during processing of wine) is bad for wine, it is beneficial for nnwa
(a) Note: various explanations have been given for this dictum — nnwa5 na’ 1pn — many of which are pragmatic
and relate to the rhythm of the words helping the worker continue to grind apace
iv  And: 3 surplus 01 would be put back in grinder on 3"y and ground finer (per vv. 6-7)
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IV Source for 11 ingredients
a gy /7 given to nwn - allusionin v. 8
i Allusion: Dno —2; M1a%m nonw qui — 3; »no replicates those 5, plus nar nnay =11
ii ~ Challenge: why not read v. 8 as %921 V191 593
1 Layout: mno is a Y93, the three items — V19, DNO — Y53
2 Application: just as 3 items are redolent and make columnar smoke — so too, anything with those properties
3 Proposed answer: if so, no need for all 3 D019
(a) Rejection: all needed; qo1 to teach that tree-byproduct valid; nonw — grasses; n1a%n — even though noxious
4 Answer: if so, read 19 np as 15t %92
iii ~Challenge: why not read 2" instance of 0nv as another 2 (total of 8)
1 Answer: then it would have put both o'nv together (e.g. ...n5nw1 qui ,0'NL DND)
b Snvpwr 77237 827 itis inferred via 9921 V191 Y9 (as above)
i Challenge: perhaps it is NWRY Y531 593 and NWRY V791 VI8 — (rejected)
ii  Explanation of pwK7 557 perhaps the 2nd instance of onv is also 2 (not 5) — and answer as per above (sequence)
iii ~Explanation of pws7 012 perhaps we should only take 1 criterion (scent) and include nn25 (which has only 1)
1 Answer: if so, n11Y should be written between the two 0%
2 Block: if so, we would have 12 ( (Dno+4=6) x2=12)
(a) Rather: if so, we should have n1aYn “outside” of the n%53
(b) Answer2 (5”): the word nmvop implies columnar smoke (don’t need %931 V191 993 to establish that)
(i) Aggadic tangent: any fast not including Y&7v’ »pywia is incomplete, per inclusion of Mma%n in nMop
1. »ax: infers that from v. 9
V  Analyzing next item on list of mn»a/mron — using the nnwnn nY
a  Ap77x anoininting animals or vessels — 7109; non-Jews or the dead — 1108
i analysis: D921 nnnA are understood; v. 4 stipulates nT8; nn is similarly understood — once dead, no longer "nTR”
1 however: why are non-Jews not included?
(a) answerl: per v. 10, only Y87w> oy is called "oTR”
(i) challenges: vv. 11-12 identify non-Jews as "DTR”
(if) answer: in each case, to distinguish them from nnna
(b) answer2: only one who is prohibited not to anoint is a proper object of anointing
(i) support (8”1 to X11): reads To» RY but understand o’ 8> (on others)
b parallel xr7272: if someone anoints D'nM DM DY) ,NNN — exempt;
i o279 o235 0™ finds liable, nTn? 1 exempts
ii  question: what is the minimal MW for liability?
1 »”7 any amount
2 772 77 1
(a) question: didn’t N> "1 exempt?
(b) answer: he exempts for 0’1121 03%N (reason below) but finds liable for V™17
iii  analysis of 2" dispute (901 77): vv. 4, 13) —n™ —just as 12’0 is with any amount, so n1n1 is any amount
1 Ama 77 nrmoon a 1 is inferred from regular nym (paying back nmn) — not
2 but: all agree that n>v for anointing kings and 0’ is any amount
iv  analysis of 1° dispute (901 ’7): n"1 — v. 13 refers to 71 — once a king or 1”12 have been anointed, they are o> for nmwn
1 A7 77 to be "1” must be classified that way always
v note (’08 "17 1772 Xp’N “): they are true to their positions, in case of 113 na who marries a %048 (unlike marrying Y%1v”)
1 if: she married 587w, pays only 17p for nmn, still has 112 na nnon for adultery (namw)
(a) apn”r butif she married %109, pays wmm 11p, death is pan
(b) orwan (71177 79): in either case, only pays 179 and nnnm is na™w (i.e. not a Mt as she was once a non-nAr)
¢ ANnbefore y27.if a 3"nd takes nnwnn 10W and rubs it on his stomach —2»n, per v. 4
i question (asked to 'wn “7): how is this different from ruling about 102 who has nn1In Yw 9w on his body, that his Sxw>
grandson may rub against it
1 answer: in the case of nmIN, v. 14 states 1M5512 3 12 1nny; this nw has already been Y510
(a) Dbut: in the context of nnwnn nY, v. 15 identifies it as "nwnn jnW even after it is on his head
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